{ *EcoFasten’

For Installers. By Installers.

WATERTIGHT BRACKET WITH CENTER
LIFT

ONONNANNNNNN

REVISION: 12/18/23 VERSION: V3.0

ECOFASTENSOLAR.COM



SIMSUPPORT

INSTALLATION GUIDE { *EcoFasten

For Installers. By Installers.

CLICKING THE PAGE NAME WILL TAKE YOU TO THAT PAGE

TABLE OF CONTENTS ... PAGE 01
FEATURES & BENEFITS . PAGE 02
COMPONENTS PAGE 03
INSTALLATION . PAGE 04
LINE DRAWINGS PAGE 06




REVISION: 12/18/23 VERSION: V3.0

SIMSUPPORT

INSTALLATION GUIDE { *EcoFasten

For Installers. By Installers.

SIMSUPPORT

The SimSupport bracket has two attachment points and utilizes our simple seal bushing
for a watertight attachment. SimSupport features a center lift and can accommodate
an EcoFasten compression bracket or third-party bracket.Due to its small foot print,
the mount is ideal for narrow pans between ridges.

FEATURES

+ Patented Watertight Technology
+ Compatible with our 3" aluminum open slot black L-Foot.
+ Two attachment points for optimum pullout values

« Fastener spacing allows for 2 fasteners per wood rafter




SIMSUPPORT

INSTALLATION GUIDE { *EcoFasten

For Installers. By Installers.

SYSTEM COMPONENTS

1. 3/8" EPDM BONDED WASHER 4. 5/16" EPDM BONDED WASHER
2. 3/8" LOCK NUT 5. SIM-SUPPORT MOUNT AL
3. 5/16" X 4" LAG BOLT 6. SIMPLESEAL EPDM BUSHING




SIMSUPPORT

INSTALLATION GUIDE

REVISION: 12/18/23 VERSION: V3.0

{*EcoFasten

For Installers. By Installers.

INSTALLING SIMSUPPORT

Preinstall both cone-shaped
rubber SimpleSeal bushing into the
SimSupport bracket by inserting
the tip of each cone in to the
corresponding shape in the bottom
of the compression bracket. The
ridge around the tip of the cone will
hold the bushing in place until the
bracket is installed.

Place the compression bracket on
roof surface above a supporting
structural component, ensuring
that the bushing sits flat against the
roof surface.

Thread the 5/16" EPDM bonded
sealing washers onto the 5/16" lag
bolts and insert the bolts into the
top of SimpleSeal bushings.




SIMSUPPORT

INSTALLATION GUIDE

REVISION: 12/18/23 VERSION: V3.0

{*EcoFasten

For Installers. By Installers.

INSTALLING SIMSUPPORT

Tighten fastener until bracket

is pulled down snug to the roof
surface. The tension required will
vary with the project roof deck,
age, and type. Be sure not to over
tighten the fasteners and strip the
threads.

Use the 3/8" lock nut and sealing
washer to attach any EcoFasten
compression bracket or third
party compression bracket to the
machine bolt in the center of the
SimSupport.




SIMSUPPORT

INSTALLATION GUIDE

REVISION: 12/18/23 VERSION: V3.0

{*EcoFasten

For Installers. By Installers.

CUT SHEET: SIM-SUPPORT MOUNT AL

PART NUMBER

DESCRIPTION

3014012

SIM-SUPPORT MOUNT AL

ITEM NO. DESCRIPTION

SIM-SUPPORT SUB-ASSEMBLY

3/8 STAINLESS STEEL AND EPDM BONDED SEALING WASHER

WASHER, SEALING, 5/16" EPDM BACKED STAINLESS STEEL

SS SERRATED FLANGE LOCK NUT, 3/8-16

A WIN|—

SIMPLE SEAL

1) SIM-SUPPORT SUB-ASSEMBLY

_—2X ¢ 0.38 THRU ALL

HEICI

MM/YY

30—

Material Aluminum/Stainless Steel
Finish Mill

REV.- CS1




REVISION: 12/18/23 VERSION: V3.0

SIMSUPPORT

INSTALLATION GUIDE { *EcoFasten

For Installers. By Installers.

CUT SHEET: SIM-SUPPORT MOUNT AL

2) 3/8 STAINLESS STEEL AND EPDM BONDED SEALING WASHER

0.13 ’——
% ),/j ©0.88
®O.34 THRU
Material Stainless Steel/EPDM
Finish Mill

3) WASHER, SEALING, 5/16" EPDM BACKED STAINLESS STEEL

0.13 |‘“ N @0.75
@Aqmgs THRU

Material Stainless Steel/EPDM
Finish Mill

REV.- CS1




REVISION: 12/18/23 VERSION: V3.0

SIMSUPPORT

INSTALLATION GUIDE { *EcoFasten

For Installers. By Installers.

CUT SHEET: SIM-SUPPORT MOUNT AL

4) SS SERRATED FLANGE LOCK NUT, 3/8-16
@0.75
%" Head 0.34
Material Stainless Steel
Finish Mill
5) SIMPLE SEAL
®0.83
@0.3
®O.38 5_
—-0.48
Material Rubber
Finish Black
REV.- CS1




REVISION: 12/18/23 VERSION: V3.0

SIMSUPPORT

INSTALLATION GUIDE { *EcoFasten

For Installers. By Installers.

CUT SHEET: L-FOOT SCL-101 BLK 3"

PART NUMBER DESCRIPTION
3011018 L-FOOT SCL-101 BLK 3"

ITEM NO. DESCRIPTION
1 L FOOT W/ STANDARD DIMPLE AND OPEN SLOT, 3 IN TALL BLK
2 SS HEX HD CAP SCREW, FULL THD, 3/8-16 UNC X 1.25 LONG
3 SS SERRATED FLANGE LOCK NUT, 3/8-16

1) LFOOT W/ STANDARD DIMPLE AND OPEN SLOT, 3 IN TALL BLK

/7@ 0.38 THRU ALL

1i38 Gé
= =042 0.41
T
1.75
3.0 -
MM/YY
—— 192 =

Material Aluminum
Finish Mill

REV.- CS1




SIMSUPPORT

INSTALLATION GUIDE

REVISION: 12/18/23 VERSION: V3.0

vAY
o
A

EcoFasten

For Installers. By Installers.

CUT SHEET: CF UNIV L-FOOT MLL 3"

PART NUMBER DESCRIPTION
2012022 CF UNIV L-FOOT MLL 3"
ITEM NO.

DESCRIPTION

1 CLICKFIT L FOOT ASSEMBLY

1) CLICKFIT L FOOT ASSEMBLY

®0.79 THRUj

E4

3.06

©0.38 THRU

{

Material

Aluminum/Stainless Steel

Finish

Mill

REV.- CS1




REVISION: 12/18/23 VERSION: V3.0

SIMSUPPORT

INSTALLATION GUIDE { *EcoFasten

For Installers. By Installers.

SYSTEM COMPONENTS

1. SimSupport Mount AL:

Consists of (1) SimSupport assembly with preinstalled 3/8" machine bolt.
Comes with (2) 5/16" EPDM bonded sealing washers, (1) 3/8" bonded sealing
washer, and (1) 3/8" lock nut and (2) EPDM rubber cone-shaped Sim Seal
bushings.

2. Aluminum Compression Bracket:

Compatible with our 3" aluminum open slot black L-Foot.
3. Recomended Fasteners

5/16"x4" lag bolts.
4, Recomended Sealant:

If required by roof manufacturer, sealant shall be roof manufacturer
approved.

DELIVERY / STORAGE / HANDLING

Inspect material upon delivery. Notify manufacturer within 24 hours of any missing
or defective items. Keep material dry, covered and off the ground until installed.

PATENTS

Visit www.efpatents.com for patent information.




REVISION: 12/18/23 VERSION: V3.0

SIMSUPPORT

INSTALLATION GUIDE { *EcoFasten

For Installers. By Installers.

DESIGN REQUIREMENTS

1. Bracket spacing to be recommended by project engineer.
2. Fasten attachment to roof using two 5/16" lag bolts.
3. It is important to design new structures or assess existing structures to

make sure they withstand retained loads.

EXAMINATION

1. Substrate: Inspect structure on which brackets are to be installed and verify
that it will withstand any additional loading that may be incurred.
2. Notify General Contractor of any deficiencies before installing EcoFasten

Solar brackets.

3. Verify that roofing material has been installed correctly prior to installing
solar attachment bracket.

INSTALLATION

Comply with architectual drawings and project engineer's recommendation for
location of system. Comply with Manufacturer’s written installation instructions for
installation and layout.

vAY ® 4141 W. VAN BUREN ST, SUITE 2, PHOENIX AZ 85009
7 *EcoFasten

1-877-859-3947 | INFO@ECOFASTENSOLAR.COM
AN ENSTALL COMPANY



